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TE R N 1 1,976,716
TERE  —AIERE JESTB 7
T AN 4P - [1] 28
KB T RRBRBUBHR AR BERR - - )1 &7 - [\ 16
KRBTSR (BT « —HHIE) s 4
KRE AR (AR OMEI KR - RIBEREE (Reiedds) ) e 8
AKEHTERER (HAFIH - 4 FI T L) ok 1
KRBTSR (BRAAFIA - KER) s 1
KE L HTEAER (KA - 1) S 1
KE kSR ERHRFIA - #7) E 1
KBTS (BOHAKFIE - b 3R) Bk 1
KEHRER G5y o b1 A2) RV 1
KRB HradiER (KR - HifHRRRE % 3) B 4
REHERER ERHARFIH - 7 A A4 ) ok 4
AKEIHTRER (AR - MERRESER) RYis 4
KE PR (BJAAFE - 7 > 3R) e 1
RESHTERER (BRHAKFIH - B v F#H) ok 1
AKEIHTRER (MOHARFIE - U LR SE) RYis 1
KRE o HratER (BJHAKFIE - 1,4-TFFH2) R 1
K SHTERER (AR - v A-1,2-YZ7ar=F L) SR 4
KBS WHARIH - F T 2-1,2-YZunxzF L) ok 4
KBRS ERAKFIH - 7 X ) RV 1
KESHRER @AXFIE - T bFr7oozF L) Bk 1
KEOHTRER EKAAFIH - NV ZenxF L) ok 1
AKEIHTRER (AR - XEY) RYis 1
AREHTERER (WOHKEIAE - Hisn) e 1
IKEHTRER EHAAFIH - 7V =7 L) ok 1
REHRRER (BT - 88) RYis 1
KB HTERER (ERAHKFIH - ) Bk 1
IKEOHTRER EKHAAFIH - F Y DAL AY) E 1
KBTS (AR - =~ H ) Bk 1
KRBTSR (BRAAKFIA - kA 4 2) RV 4
KB HTERER (AR - AV T DA A ) B 1
KEHTRER EAAFIH - <72 T2 A 4 V) ok 1
KEDHRRER (BT - ) RYis 1
KE o HaER (JHAKFIE - Z8555889) e 1
KRBTSR ERAAKFIA - BaA A v Fimin e ok 1
KRBTSR ERAAKFIA - FEA A FmintEAD) RYis 1
IKESHTERER (WJAAFIE - 7 =/ —/VHH) o 1
IKE TSR (BRAAKFIH - HH05%) E 4
KRBTSR (BRAAK R O KT - 8 - KBAAVEE (pH) ) Bk 8
KB HTERER (AR K O KT A - FLAD R 6
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A SRR (O K S O KR - (i) ok 6
KB Sy aRER (O K O KR - % (S S) ) ok 6
KBNS G - E(b AR EsRE (BOD) ) Rk 2
KB HTERER (1A - Vi B ) sk 2
KEHRER (L - IRFiR=ERE) ok 2
S TR il 1
_ Amdy - B - fEIAR = 1
BhR A = 1 1, 095, 100
HAN RS - HPE AN E = 1 1,915, 272
JHiAR A LA kn 2.58
HEHE A 1T (% h) km 2.58
IR B FRAT knf 0.48
s HEHTAE =, 1
HANERS - EEERE = 1 116, 000
Hifti2ess zsmtr - A4 - wind EV 1
Z O = 1 1,031, 300
i = 1 1, 648, 612
a5k = 1 7, 783, 000




